@ x>-3 @ x<2 @—3Sx<2

—4<2x+2<6

Zh oA 2 S WjH —4-2<2x<6-2
—-6<2x<4

ZTHE 22 UFH 3<x<2




e F QRSN A7t > 1A AL

® 3x-5>14 @ 1-6x<19

@ 4x>x-3 @x—3<2x—4
® 5x—6<-3x-4

1
@x>3@x>—3®x>—1@x>1@x<z




3.

A X = {x13x+6>5x—4, x= AA5} 4 o, n(X) £?
@ 1 @ 2 ® 3 @4 ® 5
3x+6>bx—-4
10 > 2x, x<5

x=1, 2, 3, 49|22 n(X) = 4 °|t}.




xofl B B5 ax+8>02 7t x<1 L uf, A5 a o o=
L0 7209

¥ 1 A .

D5 @ -5

® 8 @ -s ® 10

ax+8>0,ax>-8 Y 7t x <1 °|H&E g <0 o|th

X< -—-—




Aax—-12>09 3 7Fx>4 4 o), A a o] 2oz

® 1 @2  ©)s @ 4 ® 5

SHH ax > 12 o]t}

bers] 5

ax—12>0<S 7t
1)a>0°]‘§ﬂx>%0]E_Ex>47]'5]7] ML a = 3 o]
wolof g},

i) a<00ld x< 2 olmz 7} o|WT ZHS 2T x> 4
a

7ha & g,

wabA a = 3 o]t




ARG ax <6 -x & 7t x> -3 € W, a 9] 727

ax<6-x,ax+x<6
(a+1)x <69 37t x> -3 0]B=

a+1-2 7ot

(a+1)x<6, x>

a+1




7. 2<x<13°|1,a<-2x+T7<b W, a+7b 9] 322

0  @: ® 4 @ 6 ® s

2<x<139 Zt Hof| .25 HSHH —26 < —2x < -4
ZF Hof 7& HolH -19 < 2x+7< 3
a=-19, b=3°|E& g+ 7h=-19 + 21 = 2 o|t}.




3<x<bh Yo, A=-2x+79 3o HH=?

@® -6<A<-5 @ -6<A<-5 @—3<A<1
@ -3<A<1 ® -1<A<3

~&B

3<x<59

Z}7}o) Wof| —2 2 F3 ~10 < —2x < —6
Z}7+9] %01]7‘2‘310}‘?3—3<—2x+7<1°]q-
wraba] A O] 3o 9= -3 <A <10t




9.

—6§x<2‘?:JHH,A<1—gsBa}1

gttt old], B - A 9] gh&?

-6 < x <2 9 779 %01]—251']'—1?‘3—1<—353,7_}7_}94
‘ﬂﬂll%ﬁﬁ}fﬂw—gﬂgo]q




10. -1<x+1<2,a<7-3x<b¥d W, 3a-b 2 27

® -4 @—1 ® 0 @1

B

—-l<x+1<29A
Z}HMMEHHHE] 2<x<1

Zt ¥o] -3 & FSIH -3<-3x<6
ﬁt&ﬂl7gﬂo}ﬂd4s7—3x<13

=4, b=139|B2 3a—-b=3x4-13 =-1 o|t}.




m

29

11. 1<x<2 -3<y<0 <o, 2x-3y o AT} 2531

O -12 @ -11 ® 11 @ 13 @15

B

l<x<29Z W2 & &0l 2<2x <4
-3<y<09 Zt Ho -3 &

2x -3y =2 < 2x—3y <13,

webA] g2 2, H g2 130|822 9F2 15 ot




R

12, xof Bt A dx+2a =6 9] |7} 3 B} =27 ¢k

_ _ =
dx+2a = 6 & x o T}o] B x = “_= o]k,
3—-a
<3

<
3—a<6

—-a<6-3

—-a<3




13.

a<-34 M, 2a-(a+3)x<-62 & FolHA?

@ x<0 @ x<1 @x<2 @ x>1

® x>2

B

2a - (a+3)x< -6
—(a+3)x<-2a-6
(a+3)x>2a+6

L x<2(0 a+3<0)




14. (42)* =256 L o, 254 3(x-2) <ax+ 1 & TESH= 295 x 9

NeEe?

oA @6 ® 774 @ 87H ® 971

B

(42)0 = (24)7 = 2% = 256 = 28
4da=8, a=2
3(x—-2)<2x+1
3x—-6<2x+1

Lx<T

ek A4 x 6 Aol




15. 4-2a>-2 < W, 2ax —3a < 6x-9 & H=?

@xsg @ng

® x< —g ® x> —g
® st ZA5HA) ek,

~&B

4—-2a>-20]B2 g<3
2ax —3a < 6x-9

2ax —6x<3a-9

© (2a-6)x<3a-9
2(a-3)x < 3(a-3)

x> = (v a-3<0)

|




16.

B ax-3>x+5 5 HEA AR A2 VEH? (HFa<1)
8 a—1 8

®x>a_81 @x>88 @x< —

@ x<-——o ® x< -
_]_ a

ax—3>x+5

ax—x>5+3

(a=1)x>38

19, a < 1 O] B2 BE35 o] Hi5ko| Hl3 o]




17. o5 754 Aor =9 AL

o
i
mlm

D a>0¥8 M, ax>2a = x>2

@ a>09 M, ax>—-4a = x>-4
@a<0‘?—:]fq],ax>—4a = x<4
@ a>04 W, —ax>b5a = x<-5

® a<09 M, —ax>5a = x>-5

®a<00lB2, ax> ~4a o PALS a 2 iro] 9 $550)
N7} HHOR x <4 o]t}




18.

te2 S0l A4S E°lstH YE olob] Rl s F
£ w2 9 e By Bt

a<0¥ W, ax - 8a > 2ax + 10a & A4St

A9 A olghs SlobAldl. x7t = Tl Fo R,

13 IH A4S SHH —ax > 1847} FZ0H].

A ae F5oIYZE —a > 0 °1ZF .

A 1 ol s S0lU7Zt - o RO R il < - 120

7oA. ‘
48] 280« < —180] ST,
oA owuz 038 @ae )39

%

Y Eo] 2utE ti5tE Aot o231 2t

a <09 9, ax — 8a > 2ax + 10a & A4S}

AR s 94 ol sfiobAldl. x7t = At e FoE.
WS . O3 AXRE S —ax > 18a7F H AU,

AE : at &401UZE —a > 0 oA,

A : oL a £ LHOIUT - a B FHOE iw

> 12k e A,

%3] . 1’%4—3}% x> -18°] H=74.

g a < 0dS G URAT —a > 05 BZ5HA] Fokn
529 HJ P2 HHEO] M E A0l E 2w B OdE
dho} x > —18 0] obd x < —18 o]2kl s}t




19. o= & 754 Aow

filo

th
mlm

=9 A2

Da>049 ", ax>3 = x>§
a
@a>0L W, ax-4>0 = x>

@ a<0@dW,ax-4>0 = x<

SIS SR,

@ a>0¥8 ", ax+3>0 = x>—§
a

@a<0‘?=l“ﬂ,ax+3>0 = )c<§
a

~&B

@ax+3>0%ax>—3°]ﬂ,a<0°]£§._1<OO]_Tl

el ot R55 | Yol kTt =, v < - of
a




@1 3)0 @ -1

D 2

ol

—_—
1jo
‘._,_NO

el
I

Ho

x—2

2(x-2)-3(x-1)<0
2x—-4-3x+3<0




21.

o HET
ohe 254

filo
th

Aoz g 7189

mlm

DQa>049M, —ax>7a = x<-7

@ a<09 9, —ax>Ta = x>-T7

@ a>4¥4 Y, (a-4)x>
@ a<4d ], (a-4)x>

@a<4%}ﬂﬂ, (a-

(a-4) = x>1
(a-4) = x<1

dx>—(a-4) = x>-1

~&B

®a<4

(a-

(a-
CASIR)

4) <
)

_< —4) oA FHE (a—4) B o] 71 B

o] HhAT watd x < -1 o},

=
[¢)




